



Available online at www.qu.edu.iq/journalcm
 JOURNAL OF AL-QADISIYAH FOR COMPUTER SCIENCE AND MATHEMATICS
 ISSN:2521-3504(online) ISSN:2074-0204(print)



A Certain Families of Bi-Univalent Functions with Respect to Symmetric Conjugate Points Defined by Beta Negative Binomial Distribution Series

Abbas Kareem Wanas^{a,*} and Faiz Chaseb Khudher^b

^aDepartment of Mathematics, College of Science, University of Al-Qadisiyah, Iraq.Email: abbas.kareem.w@qu.edu.iq

^bDepartment of Mathematics, College of Science, University of Al-Qadisiyah, Iraq.Email: almdrsfayz@gmail.com

ARTICLE INFO

Article history:

Received: 30 /03/2023

Revised form: 25 /05/2023

Accepted: 01 /06/2023

Available online: 30 /06/2023

Keywords: Analytic functions, Bi-univalent functions, Symmetric conjugate points, Coefficient estimates, Beta negative binomial distribution.

Each keyword to start on a new line

ABSTRACT

The objective of this paper is to introduce and investigate two families of analytical and bi-univalent functions, $T_{\Sigma}^{\text{sc}}(\alpha, \beta, \eta, \lambda, \theta; \mu)$ and $W_{\Sigma}^{\text{sc}}(\alpha, \beta, \eta, \lambda, \theta; \nu)$, with respect to symmetric conjugate points that are defined in the open unit disk U and connected to a series of beta-negative binomial distributions. For functions in each of these families, we look into upper bounds for the initial Taylor-Maclaurin coefficients $|a_2|$ and $|a_3|$.

MSC: 30C45.

<https://doi.org/10.29304/jqcm.2023.15.2.1252>

1. Introduction

We indicate by \mathcal{A} the family of functions which are holomorphic in the open unit disk $U = \{z \in \mathbb{C} : |z| < 1\}$ and have the following normalized from :

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k . \tag{1.1}$$

We also indicate by S the subclass of \mathcal{A} consisting of functions which are also univalent in U . According to the Koebe one-quarter theorem [3], every function $f \in S$ has an inverse f^{-1} defined by

*Corresponding author

Email addresses: abbas.kareem.w@qu.edu.iq

Communicated by 'sub editor'

$$f^{-1}(f(z)) = z, (z \in U)$$

and

$$f(f^{-1}(w)) = w, \quad (|w| < r_0(f), r_0(f) \geq \frac{1}{4}),$$

where

$$g(w) = f^{-1}(w) = w - a_2w^2 + (2a_2^2 - a_3)w^3 - (5a_2^3 - 5a_2a_3 + a_4)w^4 + \dots \tag{1.2}$$

If both f and f^{-1} are univalent in U , then a function $f \in \mathcal{A}$ is said to be bi-univalent in U . The category of bi-univalent functions in U provided by (1.1) is denoted by the symbol. See the ground-breaking study on this topic by Srivastava et al. [13] for a brief history and fascinating instances of functions in the class. This work really rekindled the study of bi-univalent in more recent years. Here, we select to recollect the following instances of functions in the class from the work of Srivastava et al. [13]:

$$\frac{z}{1-z}, \quad \frac{1}{2} \log\left(\frac{1+z}{1-z}\right) \text{ and } -\log(1-z)$$

We notice that the class Σ is not empty. However the Koebe function is not a member of Σ .

Many authors introduced and studied various subclasses of the bi-univalent function class in sequels to the work of Srivastava et al. [13] (see, for example, [1,5,6,10,11,16,17,18]), but only non-sharp estimates on the initial coefficients $|a_2|$ and $|a_3|$ in the Taylor-Maclaurin expansion (1.1) were obtained in many of these recent papers. The challenge of determining the Taylor-Maclaurin coefficients' universal bounds $|a_n|$ ($n \in \mathbb{N} \setminus \{1,2\}; \mathbb{N} := \{1,2,3, \dots\}$),

for functions $f \in \Sigma$ is still not completely addressed for many of the subclasses of the bi-univalent function class Σ (see, for example, [12,14,15]).

From a theoretical standpoint, the Geometric Function Theory has explored some basic distributions, including the Poisson, Pascal, Logarithmic, Binomial, and Borel (for examples, see [2,4,7,9,20]).

If a discrete random variable x takes the values $0, 1, 2, 3, \dots$ with the probability, it is said to have a beta negative binomial distribution.

$$\frac{\beta(\eta+\theta,\lambda)}{\beta(\eta,\lambda)}, \theta \frac{\beta(\eta+\theta,\lambda+1)}{\beta(\eta,\lambda)}, \frac{1}{2}\theta(\theta+1) \frac{\beta(\eta+\theta,\lambda+2)}{\beta(\eta,\lambda)}, \dots \text{ respectively, where } \eta, \theta, \lambda \text{ are named the parameters.}$$

$$Prob(x = \tau) = \binom{\theta + \tau - 1}{\tau} \frac{\beta(\eta + \theta, \lambda + \tau)}{\beta(\eta, \lambda)} = \frac{\Gamma(\theta + \tau)}{\tau! \Gamma(\theta)} \frac{\Gamma(\eta + \theta)\Gamma(\lambda + \tau)\Gamma(\eta + \lambda)}{\Gamma(\eta + \theta + \lambda + \tau)\Gamma(\eta)\Gamma(\lambda)} = \frac{(\eta)_\theta (\theta)_\tau (\lambda)_\tau}{(\eta + \lambda)_\theta (\theta + \eta + \lambda)_\tau \tau!},$$

where $(a)_k$ is the Pochhammer symbol defined by

$$(a)_k = \frac{\Gamma(a+k)}{\Gamma(a)} = \begin{cases} 1 & (k = 0), \\ \alpha(\alpha+1) \dots (\alpha+k-1) & (k \in \mathbb{N}). \end{cases}$$

The following power series, whose coefficients are probabilities of the beta negative binomial distribution, was very recently introduced by Wanas and Al-Ziadi [19].

$$\wp_{\eta,\lambda}^\theta(z) = z + \sum_{k=2}^{\infty} \frac{(\eta)_\theta (\theta)_{k-1} (\lambda)_{k-1}}{(\eta + \lambda)_\theta (\theta + \eta + \lambda)_{k-1} (k-1)!} z^k, \quad (z \in U, \eta, \lambda, \theta > 0).$$

We observe using the well-known Ratio Test that the above series' radius of convergence is infinite.

The linear operator $\mathfrak{P}_{\eta,\lambda}^\theta : \mathcal{A} \rightarrow \mathcal{A}$ is defined as follows (see [19])

$$\mathfrak{P}_{\eta,\lambda}^\theta f(z) = \wp_{\eta,\lambda}^\theta(z) * f(z) = z + \sum_{k=2}^{\infty} \frac{(\eta)_\theta (\theta)_{k-1} (\lambda)_{k-1}}{(\eta + \lambda)_\theta (\theta + \eta + \lambda)_{k-1} (k-1)!} a_k z^k, \quad z \in U,$$

where $*$ indicate the Hadamard product (or convolution) of two series.

We now think back to the lemma that will be utilized to support our key findings.

Lemma 1.1 [3]. If $h \in \mathcal{P}$, then $|c_k| \leq 2$ for each $k \in \mathbb{N}$, where \mathcal{P} is the family of all functions h analytic in U for which

$$Re(h(z)) > 0, (z \in U),$$

with

$$h(z) = 1 + c_1z + c_2z^2 + \dots, (z \in U).$$

2. Coefficient Bounds for the Class $T_{\Sigma}^{sc}(\alpha, \beta, \eta, \lambda, \theta; \mu)$

Definition 2.1. A function $f \in \Sigma$ from (1.1) is said to be in the class $T_{\Sigma}^{sc}(\alpha, \beta, \eta, \lambda, \theta; \mu)$ if it satisfies the following conditions:

$$\left| \arg \left(\frac{2 \left[\alpha \beta z^3 \left(\mathfrak{P}_{\eta, \lambda}^{\theta} f(z) \right)'''' + (\alpha + \beta(2\alpha - 1))z^2 \left(\mathfrak{P}_{\eta, \lambda}^{\theta} f(z) \right)'' + z \left(\mathfrak{P}_{\eta, \lambda}^{\theta} f(z) \right)']}{\alpha \beta z^2 \left(\mathfrak{P}_{\eta, \lambda}^{\theta} f(z) - \overline{\mathfrak{P}_{\eta, \lambda}^{\theta} f(-\bar{z})} \right)'' + (\alpha - \beta)z \left(\mathfrak{P}_{\eta, \lambda}^{\theta} f(z) - \overline{\mathfrak{P}_{\eta, \lambda}^{\theta} f(-\bar{z})} \right)' + (1 - \alpha + \beta) \left(\mathfrak{P}_{\eta, \lambda}^{\theta} f(z) - \overline{\mathfrak{P}_{\eta, \lambda}^{\theta} f(-\bar{z})} \right)} \right) \right| < \frac{\mu\pi}{2}, \quad (2.1)$$

and

$$\left| \arg \left(\frac{2 \left[\alpha \beta w^3 \left(\mathfrak{P}_{\eta, \lambda}^{\theta} g(w) \right)'''' + (\alpha + \beta(2\alpha - 1))w^2 \left(\mathfrak{P}_{\eta, \lambda}^{\theta} g(w) \right)'' + w \left(\mathfrak{P}_{\eta, \lambda}^{\theta} g(w) \right)']}{\alpha \beta w^2 \left(\mathfrak{P}_{\eta, \lambda}^{\theta} g(w) - \overline{\mathfrak{P}_{\eta, \lambda}^{\theta} g(-\bar{w})} \right)'' + (\alpha - \beta)w \left(\mathfrak{P}_{\eta, \lambda}^{\theta} g(w) - \overline{\mathfrak{P}_{\eta, \lambda}^{\theta} g(-\bar{w})} \right)' + (1 - \alpha + \beta) \left(\mathfrak{P}_{\eta, \lambda}^{\theta} g(w) - \overline{\mathfrak{P}_{\eta, \lambda}^{\theta} g(-\bar{w})} \right)} \right) \right| < \frac{\mu\pi}{2}, (w \in U), \quad (2.2)$$

where $z, w \in U, 0 < \mu \leq 1, \eta, \lambda, \theta > 0, 0 \leq \beta \leq \alpha \leq 1$ and $g = f^{-1}$ is given by (1.2).

Theorem 2.1 below states that our first main finding.

Theorem 2.1. Let $f \in T_{\Sigma}^{sc}(\alpha, \beta, \eta, \lambda, \theta; \mu)$ ($0 < \mu \leq 1, \eta, \lambda, \theta > 0$) be given by (1.1). Then

$$|a_2| \leq \frac{\mu\Gamma(\eta + \theta + \lambda + 1)\Gamma(\eta)\Gamma(\lambda)\sqrt{\Gamma(\eta + \theta + \lambda + 2)}}{\sqrt{\left| \begin{aligned} &\mu\theta(\theta + 1)(6\alpha\beta + 2(\alpha - \beta) + 1)\Gamma^2(\eta + \theta + \lambda + 1)\Gamma(\eta + \theta)\Gamma(\lambda + 2)\Gamma(\eta + \lambda)\Gamma(\eta)\Gamma(\lambda) \\ &+ 2(1 - \mu)\theta^2(2\alpha\beta + \alpha - \beta + 1)^2\Gamma(\eta + \theta + \lambda + 2)\Gamma^2(\eta + \theta)\Gamma^2(\lambda + 1)\Gamma^2(\eta + \lambda) \end{aligned} \right|}}$$

and

$$|a_3| \leq \frac{\mu^2\Gamma^2(\eta + \theta + \lambda + 1)\Gamma^2(\eta)\Gamma^2(\lambda)}{(2\alpha\beta + \alpha - \beta + 1)^2\theta^2\Gamma^2(\eta + \theta)\Gamma^2(\lambda + 1)\Gamma^2(\eta + \lambda)} + \frac{2\Gamma(\eta + \theta + \lambda + 2)\Gamma(\eta)\Gamma(\lambda)}{\theta(\theta + 1)(6\alpha\beta + 2(\alpha - \beta) + 1)\Gamma(\eta + \theta)\Gamma(\lambda + 2)\Gamma(\eta + \lambda)}.$$

Proof. Conditions (2.1) and (2.2) lead to the conclusion that

$$\frac{2 \left[\alpha \beta z^3 \left(\mathfrak{P}_{\eta, \lambda}^{\theta} f(z) \right)'''' + (\alpha + \beta(2\alpha - 1))z^2 \left(\mathfrak{P}_{\eta, \lambda}^{\theta} f(z) \right)'' + z \left(\mathfrak{P}_{\eta, \lambda}^{\theta} f(z) \right)']}{\alpha \beta z^2 \left(\mathfrak{P}_{\eta, \lambda}^{\theta} f(z) - \overline{\mathfrak{P}_{\eta, \lambda}^{\theta} f(-\bar{z})} \right)'' + (\alpha - \beta)z \left(\mathfrak{P}_{\eta, \lambda}^{\theta} f(z) - \overline{\mathfrak{P}_{\eta, \lambda}^{\theta} f(-\bar{z})} \right)' + (1 - \alpha + \beta) \left(\mathfrak{P}_{\eta, \lambda}^{\theta} f(z) - \overline{\mathfrak{P}_{\eta, \lambda}^{\theta} f(-\bar{z})} \right)} = [p(z)]^{\mu} \quad (2.3)$$

and

$$\frac{2 \left[\alpha \beta w^3 \left(\mathfrak{P}_{\eta, \lambda}^{\theta} g(w) \right)''' + (\alpha + \beta(2\alpha - 1))w^2 \left(\mathfrak{P}_{\eta, \lambda}^{\theta} g(w) \right)'' + w \left(\mathfrak{P}_{\eta, \lambda}^{\theta} g(w) \right)' \right]}{\alpha \beta w^2 \left(\mathfrak{P}_{\eta, \lambda}^{\theta} g(w) - \overline{\mathfrak{P}_{\eta, \lambda}^{\theta} g(-\bar{w})} \right)'' + (\alpha - \beta)w \left(\mathfrak{P}_{\eta, \lambda}^{\theta} g(w) - \overline{\mathfrak{P}_{\eta, \lambda}^{\theta} g(-\bar{w})} \right)' + (1 - \alpha + \beta) \left(\mathfrak{P}_{\eta, \lambda}^{\theta} g(w) - \overline{\mathfrak{P}_{\eta, \lambda}^{\theta} g(-\bar{w})} \right)} = [q(w)]^{\mu} \tag{2.4}$$

where $g = f^{-1}$ and p, q in \mathcal{P} have the representations of the following series:

$$p(z) = 1 + p_1 z + p_2 z^2 + p_3 z^3 + \dots \tag{2.5}$$

and

$$q(w) = 1 + q_1 w + q_2 w^2 + q_3 w^3 + \dots \tag{2.6}$$

We discover that by comparing the corresponding coefficients of (2.3) and (2.4),

$$\frac{2(2\alpha\beta + \alpha - \beta + 1)\theta\Gamma(\eta + \theta)\Gamma(\lambda + 1)\Gamma(\eta + \lambda)}{\Gamma(\eta + \theta + \lambda + 1)\Gamma(\eta)\Gamma(\lambda)} a_2 = \mu p_1, \tag{2.7}$$

$$\frac{(6\alpha\beta + 2(\alpha - \beta) + 1)\theta(\theta + 1)\Gamma(\eta + \theta)\Gamma(\lambda + 2)\Gamma(\eta + \lambda)}{\Gamma(\eta + \theta + \lambda + 2)\Gamma(\eta)\Gamma(\lambda)} a_3 = \mu p_2 + \frac{\mu(\mu - 1)}{2} p_1^2, \tag{2.8}$$

$$-\frac{2(2\alpha\beta + \alpha - \beta + 1)\theta\Gamma(\eta + \theta)\Gamma(\lambda + 1)\Gamma(\eta + \lambda)}{\Gamma(\eta + \theta + \lambda + 1)\Gamma(\eta)\Gamma(\lambda)} a_2 = \mu q_1 \tag{2.9}$$

and

$$\frac{(6\alpha\beta + 2(\alpha - \beta) + 1)\theta(\theta + 1)\Gamma(\eta + \theta)\Gamma(\lambda + 2)\Gamma(\eta + \lambda)}{\Gamma(\eta + \theta + \lambda + 2)\Gamma(\eta)\Gamma(\lambda)} (2a_2^2 - a_3) = \mu q_2 + \frac{\mu(\mu - 1)}{2} q_1^2. \tag{2.10}$$

Making use of (2.7) and (2.9), we obtain

$$p_1 = -q_1 \tag{2.11}$$

and

$$\frac{8\theta^2(2\alpha\beta + \alpha - \beta + 1)^2\Gamma^2(\eta + \theta)\Gamma^2(\lambda + 1)\Gamma^2(\eta + \lambda)}{\Gamma^2(\eta + \theta + \lambda + 1)\Gamma^2(\eta)\Gamma^2(\lambda)} a_2^2 = \mu^2(p_1^2 + q_1^2). \tag{2.12}$$

If we add (2.8) to (2.10), we have

$$\frac{2\theta(\theta + 1)(6\alpha\beta + 2(\alpha - \beta) + 1)\Gamma(\eta + \theta)\Gamma(\lambda + 2)\Gamma(\eta + \lambda)}{\Gamma(\eta + \theta + \lambda + 2)\Gamma(\eta)\Gamma(\lambda)} a_2^2 = \mu(p_2 + q_2) + \frac{\mu(\mu - 1)}{2} (p_1^2 + q_1^2). \tag{2.13}$$

After performing various calculations and substituting the value of $p_1^2 + q_1^2$ from (2.12) into the right-hand side of (2.13), we conclude that

$$a_2^2 = \frac{\mu^2\Gamma(\eta + \theta + \lambda + 2)\Gamma^2(\eta + \theta + \lambda + 1)\Gamma^2(\eta)\Gamma^2(\lambda)(p_2 + q_2)}{2\mu\theta(\theta + 1)(6\alpha\beta + 2(\alpha - \beta) + 1)\Gamma^2(\eta + \theta + \lambda + 1)\Gamma(\eta + \theta)\Gamma(\lambda + 2)\Gamma(\eta + \lambda)\Gamma(\eta)\Gamma(\lambda)} + \frac{4(1 - \mu)\theta^2(2\alpha\beta + \alpha - \beta + 1)^2\Gamma(\eta + \theta + \lambda + 2)\Gamma^2(\eta + \theta)\Gamma^2(\lambda + 1)\Gamma^2(\eta + \lambda)}{\Gamma(\eta + \theta + \lambda + 2)\Gamma(\eta)\Gamma(\lambda)}. \tag{2.14}$$

Now, taking the absolute value of (2.14) and applying Lemma 1.1 for the coefficients p_2 and q_2 , we obtain

$$|a_2| \leq \frac{\mu\Gamma(\eta + \theta + \lambda + 1)\Gamma(\eta)\Gamma(\lambda)\sqrt{\Gamma(\eta + \theta + \lambda + 2)}}{\sqrt{\left| \mu\theta(\theta + 1)(6\alpha\beta + 2(\alpha - \beta) + 1)\Gamma^2(\eta + \theta + \lambda + 1)\Gamma(\eta + \theta)\Gamma(\lambda + 2)\Gamma(\eta + \lambda)\Gamma(\eta)\Gamma(\lambda) + 4(1 - \mu)\theta^2(2\alpha\beta + \alpha - \beta + 1)^2\Gamma(\eta + \theta + \lambda + 2)\Gamma^2(\eta + \theta)\Gamma^2(\lambda + 1)\Gamma^2(\eta + \lambda) \right|}}$$

In order to find the bound on $|a_3|$, by subtracting (2.10) from (2.8), we get

$$\frac{2\theta(\theta + 1)(6\alpha\beta + 2(\alpha - \beta) + 1)\Gamma(\eta + \theta)\Gamma(\lambda + 2)\Gamma(\eta + \lambda)}{\Gamma(\eta + \theta + \lambda + 2)\Gamma(\eta)\Gamma(\lambda)}(a_3 - a_2^2) = \mu(p_2 - q_2) + \frac{\mu(\mu - 1)}{2}(p_1^2 - q_1^2). \quad (2.15)$$

It follows from (2.11), (2.12) and (2.15) that

$$a_3 = \frac{\mu^2\Gamma^2(\eta + \theta + \lambda + 1)\Gamma^2(\eta)\Gamma^2(\lambda)(p_1^2 + q_1^2)}{8(2\alpha\beta + \alpha - \beta + 1)^2\theta^2\Gamma^2(\eta + \theta)\Gamma^2(\lambda + 1)\Gamma^2(\eta + \lambda)} + \frac{\Gamma(\eta + \theta + \lambda + 2)\Gamma(\eta)\Gamma(\lambda)(p_2 - q_2)}{2\theta(\theta + 1)(6\alpha\beta + 2(\alpha - \beta) + 1)\Gamma(\eta + \theta)\Gamma(\lambda + 2)\Gamma(\eta + \lambda)}. \quad (2.16)$$

Taking the absolute value of (2.16) and applying Lemma 1.1 once again for the coefficients p_1, p_2, q_1 and q_2 , we obtain

$$|a_3| \leq \frac{\mu^2\Gamma^2(\eta + \theta + \lambda + 1)\Gamma^2(\eta)\Gamma^2(\lambda)}{(2\alpha\beta + \alpha - \beta + 1)^2\theta^2\Gamma^2(\eta + \theta)\Gamma^2(\lambda + 1)\Gamma^2(\eta + \lambda)} + \frac{2\Gamma(\eta + \theta + \lambda + 2)\Gamma(\eta)\Gamma(\lambda)}{\theta(\theta + 1)(6\alpha\beta + 2(\alpha - \beta) + 1)\Gamma(\eta + \theta)\Gamma(\lambda + 2)\Gamma(\eta + \lambda)},$$

which completes the proof of Theorem 2.1.

3. Coefficient Bounds for the Class $W_{\Sigma}^{sc}(\alpha, \beta, \eta, \lambda, \theta; v)$

Definition 3.1. A function $f \in \Sigma$ given by (1.1) is said to be in the class $W_{\Sigma}^{sc}(\alpha, \beta, \eta, \lambda, \theta; v)$ if it satisfies the following conditions:

$$Re \left\{ \frac{2 \left[\alpha\beta z^3 \left(\mathfrak{P}_{\eta,\lambda}^{\theta} f(z) \right)''' + (\alpha + \beta(2\alpha - 1))z^2 \left(\mathfrak{P}_{\eta,\lambda}^{\theta} f(z) \right)'' + z \left(\mathfrak{P}_{\eta,\lambda}^{\theta} f(z) \right)' \right]}{\alpha\beta z^2 \left(\mathfrak{P}_{\eta,\lambda}^{\theta} f(z) - \overline{\mathfrak{P}_{\eta,\lambda}^{\theta} f(-\bar{z})} \right)'' + (\alpha - \beta)z \left(\mathfrak{P}_{\eta,\lambda}^{\theta} f(z) - \overline{\mathfrak{P}_{\eta,\lambda}^{\theta} f(-\bar{z})} \right)' + (1 - \alpha + \beta) \left(\mathfrak{P}_{\eta,\lambda}^{\theta} f(z) - \overline{\mathfrak{P}_{\eta,\lambda}^{\theta} f(-\bar{z})} \right)} \right\} > v \quad (3.1)$$

and

$$Re \left\{ \frac{2 \left[\alpha\beta w^3 \left(\mathfrak{P}_{\eta,\lambda}^{\theta} g(w) \right)''' + (\alpha + \beta(2\alpha - 1))w^2 \left(\mathfrak{P}_{\eta,\lambda}^{\theta} g(w) \right)'' + w \left(\mathfrak{P}_{\eta,\lambda}^{\theta} g(w) \right)' \right]}{\alpha\beta w^2 \left(\mathfrak{P}_{\eta,\lambda}^{\theta} g(w) - \overline{\mathfrak{P}_{\eta,\lambda}^{\theta} g(-\bar{w})} \right)'' + (\alpha - \beta)w \left(\mathfrak{P}_{\eta,\lambda}^{\theta} g(w) - \overline{\mathfrak{P}_{\eta,\lambda}^{\theta} g(-\bar{w})} \right)' + (1 - \alpha + \beta) \left(\mathfrak{P}_{\eta,\lambda}^{\theta} g(w) - \overline{\mathfrak{P}_{\eta,\lambda}^{\theta} g(-\bar{w})} \right)} \right\} > v, \quad (3.2)$$

where

$z, w \in U, 0 \leq v < 1, \eta, \lambda, \theta > 0$ and the function $g = f^{-1}$ is given by (1.2).

Our second main result is asserted by Theorem 3.1 below.

Theorem 3.1. Let $f \in W_{\Sigma}^{sc}(\alpha, \beta, \eta, \lambda, \theta; v)$ ($0 \leq v < 1, \eta, \lambda, \theta > 0$) be given by (1.1). Then

$$|a_2| \leq \sqrt{\frac{2(1 - v)\Gamma(\eta + \theta + \lambda + 2)\Gamma(\eta)\Gamma(\lambda)}{|\theta(\theta + 1)(6\alpha\beta + 2(\alpha - \beta) + 1)\Gamma(\eta + \theta)\Gamma(\lambda + 2)\Gamma(\eta + \lambda)|}} \quad (3.3)$$

and

$$|a_3| \leq \frac{(1-v)^2 \Gamma^2(\eta + \theta + \lambda + 1) \Gamma^2(\eta) \Gamma^2(\lambda)}{\theta^2 (2\alpha\beta + \alpha - \beta + 1)^2 \Gamma^2(\eta + \theta) \Gamma^2(\lambda + 1) \Gamma^2(\eta + \lambda)} + \frac{2(1-v) \Gamma(\eta + \theta + \lambda + 2) \Gamma(\eta) \Gamma(\lambda)}{\theta(\theta + 1)(6\alpha\beta + 2(\alpha - \beta) + 1) \Gamma(\eta + \theta) \Gamma(\lambda + 2) \Gamma(\eta + \lambda)}. \tag{3.4}$$

Proof. It results from (3.1) and (3.2) that there exist $p, q \in \mathcal{P}$ such that

$$\frac{2 \left[\alpha\beta z^3 \left(\mathfrak{P}_{\eta,\lambda}^\theta f(z) \right)'''' + (\alpha + \beta(2\alpha - 1)) z^2 \left(\mathfrak{P}_{\eta,\lambda}^\theta f(z) \right)'' + z \left(\mathfrak{P}_{\eta,\lambda}^\theta f(z) \right)' \right]}{\alpha\beta z^2 \left(\mathfrak{P}_{\eta,\lambda}^\theta f(z) - \overline{\mathfrak{P}_{\eta,\lambda}^\theta f(-\bar{z})} \right)'' + (\alpha - \beta) z \left(\mathfrak{P}_{\eta,\lambda}^\theta f(z) - \overline{\mathfrak{P}_{\eta,\lambda}^\theta f(-\bar{z})} \right)' + (1 - \alpha + \beta) \left(\mathfrak{P}_{\eta,\lambda}^\theta f(z) - \overline{\mathfrak{P}_{\eta,\lambda}^\theta f(-\bar{z})} \right)} = v + (1-v)p(z) \tag{3.5}$$

and

$$\frac{2 \left[\alpha\beta w^3 \left(\mathfrak{P}_{\eta,\lambda}^\theta g(w) \right)'''' + (\alpha + \beta(2\alpha - 1)) w^2 \left(\mathfrak{P}_{\eta,\lambda}^\theta g(w) \right)'' + w \left(\mathfrak{P}_{\eta,\lambda}^\theta g(w) \right)' \right]}{\alpha\beta w^2 \left(\mathfrak{P}_{\eta,\lambda}^\theta g(w) - \overline{\mathfrak{P}_{\eta,\lambda}^\theta g(-\bar{w})} \right)'' + (\alpha - \beta) w \left(\mathfrak{P}_{\eta,\lambda}^\theta g(w) - \overline{\mathfrak{P}_{\eta,\lambda}^\theta g(-\bar{w})} \right)' + (1 - \alpha + \beta) \left(\mathfrak{P}_{\eta,\lambda}^\theta g(w) - \overline{\mathfrak{P}_{\eta,\lambda}^\theta g(-\bar{w})} \right)} = v + (1-v)q(w), \tag{3.6}$$

where $p(z)$ and $q(w)$ get the forms (2.5) and (2.8), respectively. Equating coefficients (3.5) and (3.6) yields

$$\frac{2(2\alpha\beta + \alpha - \beta + 1)\theta \Gamma(\eta + \theta) \Gamma(\lambda + 1) \Gamma(\eta + \lambda)}{\Gamma(\eta + \theta + \lambda + 1) \Gamma(\eta) \Gamma(\lambda)} a_2 = (1-v)p_1, \tag{3.7}$$

$$\frac{(6\alpha\beta + 2(\alpha - \beta) + 1)\theta(\theta + 1) \Gamma(\eta + \theta) \Gamma(\lambda + 2) \Gamma(\eta + \lambda)}{\Gamma(\eta + \theta + \lambda + 2) \Gamma(\eta) \Gamma(\lambda)} a_3 = (1-v)p_2, \tag{3.8}$$

$$-\frac{2(2\alpha\beta + \alpha - \beta + 1)\theta \Gamma(\eta + \theta) \Gamma(\lambda + 1) \Gamma(\eta + \lambda)}{\Gamma(\eta + \theta + \lambda + 1) \Gamma(\eta) \Gamma(\lambda)} a_2 = (1-v)q_1 \tag{3.9}$$

and

$$\frac{(6\alpha\beta + 2(\alpha - \beta) + 1)\theta(\theta + 1) \Gamma(\eta + \theta) \Gamma(\lambda + 2) \Gamma(\eta + \lambda)}{\Gamma(\eta + \theta + \lambda + 2) \Gamma(\eta) \Gamma(\lambda)} (2a_2^2 - a_3) = (1-v)q_2. \tag{3.10}$$

From (3.7) and (3.9), we have

$$p_1 = -q_1 \tag{3.11}$$

and

$$\frac{8\theta^2(2\alpha\beta + \alpha - \beta + 1)^2 \Gamma^2(\eta + \theta) \Gamma^2(\lambda + 1) \Gamma^2(\eta + \lambda)}{\Gamma^2(\eta + \theta + \lambda + 1) \Gamma^2(\eta) \Gamma^2(\lambda)} a_2^2 = (1-v)^2(p_1^2 + q_1^2). \tag{3.12}$$

Adding (3.8) and (3.10), we obtain

$$\frac{2\theta(\theta + 1)(6\alpha\beta + 2(\alpha - \beta) + 1) \Gamma(\eta + \theta) \Gamma(\lambda + 2) \Gamma(\eta + \lambda)}{\Gamma(\eta + \theta + \lambda + 2) \Gamma(\eta) \Gamma(\lambda)} a_2^2 = (1-v)(p_2 + q_2). \tag{3.13}$$

Therefore, we obtain

$$a_2^2 = \frac{(1-v)\mu(\mu - 1) \Gamma(\eta + \theta + \lambda + 2) \Gamma(\eta) \Gamma(\lambda) (p_2 + q_2)}{2\theta(\theta + 1)(6\alpha\beta + 2(\alpha - \beta) + 1) \Gamma(\eta + \theta) \Gamma(\lambda + 2) \Gamma(\eta + \lambda)}.$$

Applying Lemma 1.1 for the coefficients p_2 and q_2 , we have

$$|a_2| \leq \sqrt{\frac{2(1-v)\Gamma(\eta+\theta+\lambda+2)\Gamma(\eta)\Gamma(\lambda)}{|\theta(\theta+1)(6\alpha\beta+2(\alpha-\beta)+1)\Gamma(\eta+\theta)\Gamma(\lambda+2)\Gamma(\eta+\lambda)|}}$$

This gives the desired estimate for $|a_2|$ as asserted in (3.3).

In order to find the bound on $|a_3|$, by subtracting (3.10) from (3.8), we have

$$\frac{2\theta(\theta+1)(6\alpha\beta+2(\alpha-\beta)+1)\Gamma(\eta+\theta)\Gamma(\lambda+2)\Gamma(\eta+\lambda)}{\Gamma(\eta+\theta+\lambda+2)\Gamma(\eta)\Gamma(\lambda)}(a_3-a_2^2) = (1-v)(p_2-q_2),$$

or equivalently

$$a_3 = a_2^2 + \frac{(1-v)\Gamma(\eta+\theta+\lambda+2)\Gamma(\eta)\Gamma(\lambda)(p_2-q_2)}{2\theta(\theta+1)(6\alpha\beta+2(\alpha-\beta)+1)\Gamma(\eta+\theta)\Gamma(\lambda+2)\Gamma(\eta+\lambda)}$$

Upon substituting the value of a_2^2 from (3.12), it follows that

$$a_3 = \frac{(1-v)^2\Gamma^2(\eta+\theta+\lambda+1)\Gamma^2(\eta)\Gamma^2(\lambda)(p_1^2+q_1^2)}{8\theta^2(2\alpha\beta+\alpha-\beta+1)^2\Gamma^2(\eta+\theta)\Gamma^2(\lambda+1)\Gamma^2(\eta+\lambda)} + \frac{(1-v)\Gamma(\eta+\theta+\lambda+2)\Gamma(\eta)\Gamma(\lambda)(p_2-q_2)}{2\theta(\theta+1)(6\alpha\beta+2(\alpha-\beta)+1)\Gamma(\eta+\theta)\Gamma(\lambda+2)\Gamma(\eta+\lambda)}$$

Applying Lemma 1.1 once again for the coefficients p_1, p_2, q_1 and q_2 , we have

$$|a_3| \leq \frac{(1-v)^2\Gamma^2(\eta+\theta+\lambda+1)\Gamma^2(\eta)\Gamma^2(\lambda)}{\theta^2(2\alpha\beta+\alpha-\beta+1)^2\Gamma^2(\eta+\theta)\Gamma^2(\lambda+1)\Gamma^2(\eta+\lambda)} + \frac{2(1-v)\Gamma(\eta+\theta+\lambda+2)\Gamma(\eta)\Gamma(\lambda)}{\theta(\theta+1)(6\alpha\beta+2(\alpha-\beta)+1)\Gamma(\eta+\theta)\Gamma(\lambda+2)\Gamma(\eta+\lambda)},$$

which completes the proof of Theorem 3.1.

References

- [1] C. Abirami, N. Magesh and J. Yamini, Initial bounds for certain classes of bi-univalent functions defined by Horadam polynomials , *Abstr. Appl.* , 2020 (2020), Art. ID 7391058, 1-8.
- [2] S. Altinkaya and S. Yalcin, Poisson distribution series for certain subclasses of starlike functions with negative coefficients, *An. Univ. Oradea Fasc. Mat.*, 24(2) (2017), 5-8.
- [3] P. L. Duren, *Univalent Functions*, Grundlehren der Mathematischen Wissenschaften, Band 259, Springer -Verlag, New York, Berlin, Heideiberg and Tokyo, 1983.
- [4] S. M. El-Deeb, T . Bulboaca and J. Dziok, Pascal distribution series connected with certain subclasses of univalent functions, *Kyungpook Math. J.*, 59(2) (2019), 301-314.
- [5] D. Guo , E. Ao, H. Tang and L. P. Xiong, Initial bounds for a subclass of analytic and bi-univalent functions defined by Chebyshev polynomials and q-differential operator, *J. Math. Research Appl.*, 39(5) (2019), 506-516.
- [6] Y .Li, K .Vijaya, G. Murugusundaramoorthy and H. Tang, On new subclasses of bi-starlike functions with bounded boundary rotation, *AIMS Mathematics*, 5(4) (2020), 3346-3356.
- [7] W. Naszeer, Q. Mehmood, S. M. Kang and A. U. Haq, An application of Binomial distribution series on certain analytic functions, *J. Comput. Anal. Appl.*, 26 (2019), 11-17.
- [8] A. O. Pall-Szabo and A. K. Wanas, Coefficient estimates for some new classes of bi- Bazilevic functions of Ma-Minda type involving the salagean integro- differential operator, *Quaestiones Mathematicae*, 44(4) (2021), 495-502.

- [9] S. Porwal and M. Kumar, A unified study on starlike and convex functions associated with Poisson distribution series, *Afr. Mat.*, 27 (2016), 10-21.
- [10] B. Seker, On a new subclass of bi-univalent functions defined by using Salagean operator, *Turk. J. Math.*, 42 (2018), 2891-2896.
- [11] T. G. Shaba, On some subclasses of bi-pseudo-starlike functions defined by Salsgean differential operator, *Asia Pac. J. Math.*, 8(6) (2021), 1-11.
- [12] H. M. Srivastava, S. S. Eker, S. G. Hamidi and J. M. Jahangiri, Faber polynomial coefficient estimates for bi-univalent functions defined by the Tremblay fractional derivative operator, *Bull. Iran. Math. Soc.*, 44 (2018), 149-157.
- [13] H. M. Srivastava, A. K. Mishra and P. Gochhayat, Certain subclasses of analytic and bi-univalent functions, *Appl. Math. Lett.*, 23 (2010), 1188-1192.
- [14] H. M. Srivastava, A. Motamednezhad and E. A. Adegani, Faber polynomial Coefficient estimates for bi-univalent functions defined by using differential subordination and a certain fractional derivative operator, *Mathematics*, 8 (2020), Art. ID 172, 1-12.
- [15] H. M. Srivastava, F. M. Sakar and H. O. Guney, Some general coefficient estimates for a new class of analytic and bi-univalent functions defined by a linear combination, *Filomat*, 32 (2018), 1313-1322.
- [16] S. R. Swamy, P. K. Mamatha, N. Magesh and J. Yamini, Certain subclasses of bi-univalent functions defined by Salagean operator associated with the (p,q) - Lucas polynomials, *Advances in Mathematics Scientific Journal*, 9(8) (2020), 6017-6025.
- [17] H. Tang, N. Magesh, V. K. Balaji and C. Abirami, Coefficient inequalities for comprehensive class of bi-univalent functions related with bounded boundary variation, *J. Ineq. Appl.*, 2019 (2019), Art. ID 237, 1-9.
- [18] A. K. Wanas and A. K. Al-Khafaji, Coefficient bounds for certain families of bi-univalent functions defined by Wanas operator, *Asian-Eur. J. Math.*, 15(5) (2022), 1-9.
- [19] A. K. Wanas and N. A. Al-Ziadi, Applications of Beta negative binomial distribution series on holomorphic functions, *Earthline J. Math. Sci.*, 6(2) (2021), 271-292.
- [20] A. K. Wanas and J. A. Khuttar, Applications of Borel distribution series on analytic functions, *Earthline J. Math. Sci.*, 4(1) (2020), 71-82.